A #E8

XR4.2.4IR7E [EIZFIKR

BTEEETDIA XD

4 th i34 Rl 53 R




220

200

180

160

140

120

100

80

60

40

20

1 RRF - BRFERMER

—o— LR
=t (&
—— ELV=FEM
FEH
o R

o— |||

[~
=

—— HAR[RT
—o— Fivth
—e— FhEm
et AT
—o— ZhEM
R#RTH
—a— KB
—o— {h
o fHE

A (= A

» W >

N =5\
ERL 165 174 1845 194 204 214 224 234 244 254 264 274 284 294 304 R14 R2% R3&F
154

—*— RELT

o LB
ek

—*— BT

REARTH

ALIET 29 18 22 1.12
M=) 16 17 9 0.83
SLV-FEm 14 10 8 0.60
FEM

iR 27 30 32 0.85
JIg

HERT 6 9 6 0.83
Fiash 5 3 0 0.00
B8 T 6 7 5 0.58
JERT 7 3 7 0.89
ZHEM 71 60 67 2.88
AT

N 107 94 77 2.80
B 7 4 4 0.49
HET 11 17 16 1.06
& LT

IN=T} 11 9 7 0.59
A

BT 51 35 39 2.41
¥ N 7 7 10 1.35

KRRECKDT—H



3 REH-BEFNH
(SHBFEDHIVREEE - TAXEEZRFHEBDLLE)

BETARXEE wHVESLE

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

FLR
lia™
SWV=FEm
FEH
R
g
RS
#imm
R
BT
£ZHEM
Rk
PN
]
AT

& LT
IN=T7]
T
fafE
REARTH




FLIRTH
=)
SWV=FEm
FEM

HiET |
g |
HRET |

Himm
FRME ™
b2 /NG
AEET
AR
PN
i
AT
LT
IN=Yi]
FEAam
e
REATH

4 RIS

(FHBEDHIVREREE - TA XEBBBHHIETHLEE)

D BEEIARXESE wBHHVEEE LU IAXEE  w THEHVERE

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

———




5 RREBFEE D
(SHBEDHVELE - T X BEBHHI=H B L)

m BRI EM = FMEMERES  cHIERMER e BFEE Tt = FH

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

FLIRT
e
SWV=FmH

FEH
MR
s |
R b
Fgm |

BT
i S I N N N S S I U R

2 /N
. EJ_; = < I NN NN N S S U R R

PN

R
- A I A S N N N I R I

UN_Ti7)

BT
- - . /' '/ /! | | |




6 FEFEIRAIS

SFH3FEDHIVEREE - TAXEERHHK

0% 10% 20%

[ZHITHEEE)

m 20 KRG

m 201%

= 301t

= 401%

m 501t

= 60X LA E

30%

40%

50%

60%

70%

80%

90%

100%

AL
&
SW=FEH
FEN |
RN D
g |
BRRT )
B
BT »
SEHATH
#EER
R
KR
i
WA
L
LeH
L]
EmH
fEATH




FLIRTH
=
SWV=Fh
FEM

HIET |
st |
MR

#Him

BET

ERTH
AEET
AR
PN
R
e
g
N1}
e
R
REAT

7 RREHI R 55
(SHBEOHVELE - T X BEBHHICH T BLE)

" BRERN miEs m R

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

e




